normalized X?

[ normalized x? probability |

chiz Chiz_prob
Entries 1503 E Entries 1593
Mean 1152 0.08 Mean 05013
Std Dev 1277 Std Dev 03131
| -
: hiz 0.07 ‘chiz_prol
+_[Entes 1907 Entries 907
7 - | Mean 0.4627
006 Std Dev. 0.3176
0.05 Chiz_prob
Entries 500
T | mean 0.4398
0.04 - | std Dev 0.3185 |
0.03f--: AR

0.02

0.0

o o 10
o 2 ]l :
o o | = . 0 I
: : Lo ! I W
et e e e amdeasAeasbaasiesaaana . ] . 1 | | L
6 8 10 12 14 16 18 20 0'50 0.10203040506070809 1

X? Prob(x?)

2.5 =
£ 7 T g
c H . A
3 : : -
< 2 RS S
v . . —

. . o
: HilR °
1.5f-- | === DQM_CKF_TTbarPu

s DQM_mkFit_TTbharPU-noDNN-baseline
wmmm DQM_mkFit_TTbarPU-noDNN-fix

ie]
T
o
0 2 3
n TP n (PCA to beamline)
N or T N
k=] [ : k<]
{=4 L . c
% 2.5 eenee P E T EETr TP =<
Vv : . \%
ok
15F
t
293 2
© o
o 12 o
0.8

<dpp. > (%)

Ratio




	Contents
	Page 1


